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AE EA gi)ﬁ:?g_@nsﬁﬁ—ﬁg 2018/12/21 10,000
WA E— gi)ﬁ:?g_@nsﬁﬁ—ﬁg 2018/12/21 100,000
mE B gi)ﬁ:?g_@nsﬁfﬁ—ﬁg 2018/12/21 30,000
KAR BRF g?éﬁgﬁf”gﬁ%@m 2018/12/23 5,000
EAR B g?éﬁgﬁf”gﬁ%@m 2018/12/24 100,000
WA £EF g%)ﬂ:#g@ﬁsﬁﬁ{%ﬁ: 2018/12/25 5,000
Ik RE g%)ﬂ:#g@ﬁsﬁﬁ{%ﬁ: 2018/12/25 10,000
et BE g%)ﬂ:#g@ﬁsﬁﬁ{%ﬁ: 2018/12/25 10,000
EE gi)x%%ﬁmsﬁﬁ—ﬁa 2018/12/25 10,000
REBE EE gi)x%%ﬁmsﬁﬁ—ﬁa 2018/12/25 100,000
WA TFH %E?‘#E@(mﬁﬁ{%‘? 2018/12/25 10,000
ERAERE A gi?‘#gﬁwsﬁﬁ_ﬂg 2018/12/25 1,000,000
REFLEESKASH LERFEE (BEF) 2018/12/25 100,000
BA SIS LERFEE (BEF) 2018/12/25 50,000
INEE A E] gi?ﬁgﬁwsﬁﬁ_ﬂ% 2018/12/26 100,000
B E=EF gi?‘#gﬁwsﬁﬁ_ﬂg 2018/12/26 10,000
EfEAELETA FLHER LERFEE (BEF) 2018/12/26 50,000
E# KB %g?‘igﬁwsﬁﬁ{%‘% 2018/12/26 5,000
EfEAETyF— LERFEE (BEF) 2018/12/26 50,000
HREH/ULaL g?éﬁgﬁ%ﬁgg% DR\ 9018/12/27 1,000,000
R IE— %%;‘igﬁwsﬁﬁ%ﬁ? 2018/12/27 5,000
BRAeHicLER LERFEE (BEF) 2018/12/28 50,000
B T %%;‘igﬁwsﬁﬁ%ﬁ? 2018/12/28 5,000




SHEZARR (FHIOFEHE) WR FRE31EI[I BRE
StEf HWES FAKES ZAEAH Sz
B HE gi)ﬁf‘f_gﬁnsﬁ]fﬁ—ﬁg 2018/12/28 5,000
KE ERE gi?‘i‘%ﬁ(m%ﬁ_ﬁg 2018/12/28 100,000
WE g@;‘i‘gfﬁiﬁgg%mﬂ 2019/01/04 10,000
EfEAAZESR g‘géi‘?f?’gg%mﬂ 2019/01/04 10,000,000
R BH %E?‘igﬁnsﬁﬂ%ﬁ? 2019/01/04 10,000
IH AR gi)ﬁ:?g_@nsﬁfﬁ—ﬁg 2019/01/04 12,000
FE Ak gi)ﬁ:?g_@nsﬁﬁ—ﬁg 2019/01/07 5,000
BARHOELR LEEXFES (BEH) 2019/01/08 50,000
EfE AN FR SRR LEXRFEE (BEX) 2019/01/08 50,000
EREASRCHRERNARYNEYII=vY LEXRFPEE (BEXE) 2019/01/08 50,000
EfREATL-TLR LERFEE (BEF) 2019/01/08 50,000
EfEANSHIRMER LEXRFPEE (BEXE) 2019/01/08 100,000
BE kX LERFEE (BEF) 2019/01/08 50,000
£k RT LEXRFEE (BEE) 2019/01/08 50,000
EfEAAFEYLR LERFEE (BEF) 2019/01/08 100,000
EfEAHEERS LERFEE (BEF) 2019/01/08 50,000
F529—RH et LERFEE (BEF) 2019/01/08 150,000
B =RF LERFEE (BEF) 2019/01/08 50,000
HA R/ ULOL LEREEE (BEE) 2019/01/08 50,000
EfFEARCER LERFEE (BEF) 2019/01/08 50,000
EREAABRERVFEERR LERFEE (BEF) 2019/01/08 50,000
BT B LERFEE (BEF) 2019/01/08 50,000
EFEAARTALERI)=YY LERFEE (BEF) 2019/01/08 50,000
piick %g?‘igﬁwsﬁﬁ{%‘% 2019/01/09 100,000
REFLEESKASH LERFEE (BEF) 2019/01/10 100,000
FHRI##AS LEEXFES (BEE) 2019/01/10 100,000
BASHBELEHR LERFEE (BEF) 2019/01/10 50,000
KF E£F gi?ﬁgﬁwsﬁﬁ_ﬁ% 2019/01/11 5,000
B H— gi;ﬁgﬁ”sﬁﬁ_ﬁg 2019/01/11 10,000
#HEEREALEHIES g%éﬁgﬁ%’]ﬁ’g%m& 2019/01/15 10,000,000
FE Ez é)%jc?—%ﬁ(ﬂ%ﬁii%$ 2019/01/15 10,000
EA fith é)%jc?—%ﬁ(ﬂ%ﬁii%$ 2019/01/15 10,000
nHis BF gi;‘fﬁgﬁ”sﬁﬁ_ﬁg 2019/01/15 30,000




HHEZAKRR (ERIOEEHRE MR TR314E3H31 BEE
StEf HWES FAKES ZAEAH Sz
EfEAEHA Y+ — LEXRFEE (BEX) 2019/01/16 50,000
EfREANAES LEXRFEE (BEX) 2019/01/16 50,000
EFEAKOC EABBNEIIZYD LEXRZEE (BEF) 2019/01/16 50,000
IR =& BITEEECHRENT | 2019/01/17 500
X% HHT ﬁz?z%gﬁ(—ﬁ%aaﬁs 2019/01/17 500
B EX f’é?%‘%ﬁ(_ﬁga%ﬁ 2019/01/17 500
28 ER f’é?%‘%ﬁ(_ﬁga%ﬁ 2019/01/17 1,000
LR EVN:] @ii%g_@(—ﬁgaa@% 2019/01/17 500
ATE R E%j‘*‘%ﬁ_ﬁxgaﬁ 2019/01/17 500
KE £F E%j‘*‘%ﬁ_ﬁxgaﬁ 2019/01/17 500
HH BEA ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
A& EH ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
Z@ 2EX @;iﬁg_@(—ﬁxaa@% 2019/01/17 500
BE Ak E%j‘*g%(_ﬂ"a’h$ 2019/01/17 500
I B @*i*fgﬁ(_ﬁ"a%§ 2019/01/17 500
®RE X E%j‘*g%(_ﬂ"a’h$ 2019/01/17 500
BE AX E%j‘*g%(_ﬂ"a’h$ 2019/01/17 500
T —ER ﬁ;?*ﬁgﬁ(_ﬁ"a%§ 2019/01/17 500
WNE FEE ﬁ:?ﬁg%<_ﬁga%§ 2019/01/17 5,000
R ¥Ih ﬁ:?ﬁg%<_ﬁga%§ 2019/01/17 500
WA —8h f’é?ﬁgﬁ(_ﬁm%§ 2019/01/17 500
BA % ﬁ:?ﬁgﬁ(_ﬁw%% 2019/01/17 500
R B %z)ﬂﬁgﬁ(—ﬁgaa@% 2019/01/17 500
S ﬁz)ﬂﬁgﬁ_ﬁw%% 2019/01/17 500
A W ﬁ:?ﬁgﬁ(_ﬁw%% 2019/01/17 500
'R OBEX @iiﬁgﬁ(_ﬁgam’g 2019/01/17 500
=17 B E%x;gf(—ﬁxamﬁs 2019/01/17 500
BRHE BEA ﬁ;?*ﬁgﬁ(_ﬁxﬁ%% 2019/01/17 500
HIR EM ﬁz)ﬂﬁgﬁ(—ﬁaaa@zs 2019/01/17 500
x EK ﬁi?ﬁgﬁ(_ﬁga%% 2019/01/17 500
(11PN ‘P’{?‘)iﬁgﬁ(_ﬁw?‘ﬁ’g 2019/01/17 500
KHE fi— {gi)iﬁgﬁ(_%a%% 2019/01/17 500
Ao BE {gi)iﬁgﬁ(_%a%% 2019/01/17 500




FMEZARR CERIOFERE AR TR314E3H31 BEE
StEf HWES FAKES ZAEAH Sz
Kig = F%‘—B‘Z%«%ﬁ(-)ﬁ%ﬁa@§ 2019/01/17 500
e =54 Ei*?—gf(_ﬁxﬁm$ 2019/01/17 500
RE BE Ei*?—gf(_ﬁxﬁm$ 2019/01/17 500
ZHA & Ei**’%ﬁ_ﬁ"gyﬁ 2019/01/17 10,000
Nl Ei**’%ﬁ_ﬁ"gws 2019/01/17 500
EME {EAR ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
R RE E%j‘*‘%ﬁ_ﬁxgaﬁ 2019/01/17 500
HE # ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
KHE RIH ﬁgx*gﬁ_ﬁxgmf’ 2019/01/17 500
XE EE E%j‘*‘%ﬁ_ﬁxgaﬁ 2019/01/17 500
WE FF ng*gﬁ_ﬁxgaﬁ 2019/01/17 1,000
IR H#F E%j‘*‘%ﬁ_ﬁxgaﬁ 2019/01/17 10,000
AR R E%x*gf(_ﬁxgmf’ 2019/01/17 500
WE #E ﬁ;?*ﬁgﬁ(_ﬁ"a%§ 2019/01/17 500
LE PN ﬁ:?ﬁg%<_ﬁga%§ 2019/01/17 500
KRR B f’é?ﬁgﬁ(_ﬁm%§ 2019/01/17 500
BR BE @r‘?iﬁgﬁ(—ﬁaaa’g§ 2019/01/17 500
AT S E%j‘*g%(_ﬂ"a’h$ 2019/01/17 500
8 HH @*i*fgﬁ(_ﬁ"a%§ 2019/01/17 500
MR in E%j‘*g%(_ﬂ"a’h$ 2019/01/17 20,000
2H —sh EEx%Eﬁ_HXEM# 2019/01/17 10,000
BW i ﬁ%x;gﬁ—ﬁxam# 2019/01/17 500
"R L @%Efggﬁ(—ﬁxaa@?,s 2019/01/17 500
Em @ E%x;gf(—ﬁxamﬁs 2019/01/17 500
Bi# MK ﬁ;?*ﬁgﬁ(_ﬁxa%% 2019/01/17 500
EBN = @iiﬁg@(—ﬁgaa@% 2019/01/17 500
A * E%x;gf(—ﬁxamﬁs 2019/01/17 500
EaK BX E%x;gf(—ﬁxamﬁs 2019/01/17 500
AR AE ﬁi;‘*gﬁ(_ﬁﬂm% 2019/01/17 500
aH #F ﬁ;ﬁﬁgﬁ(_ﬂw%% 2019/01/17 500
T #— {gi)iﬁgﬁ(_%a%% 2019/01/17 2,000
R - ‘P’{?‘)iﬁgﬁ(_ﬁw?ﬁ 2019/01/17 500
H#E B ﬁifﬁgﬁ(_ﬁga%% 2019/01/17 500




BHEZSAKR (ERI0EERS) MR FRIEIAIAHLE
EET: HhtEs EABES EAFAR Sz
MR BE F%‘—B‘Z%«%ﬁ(-)ﬁ%ﬁa@§ 2019/01/17 500
=B = LEXRFEE (BT | 5019/01/17 500
f1£)
- BEXEES(—EENE
Bl = e 2019/01/17 500
P A ErXiERe (—REANF | 519/01/17 500
)
EHE %A F%‘—B‘Z%«%ﬁ(-)ﬁ%ﬁa@§ 2019/01/17 500
#H = ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
INE #Z—ER E%j‘*‘%ﬁ_ﬁxgaﬁ 2019/01/17 30,000
AH X ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
HE K ErXiERe (—RANF | 519/01/17 500
)
= _ BEXEES(—RENE
=8 e 2019/01/17 500
—F RX ErXipRe (—RANF | 519/01/17 500
)
EfEARBI [REZERNERER LERZES (BEX) 2019/01/17 50,000
BI% BARE ErXipRe (—RANF | 519/01/17 500
)
AH &R ﬁ:?ﬁg%<_ﬁga%§ 2019/01/17 500
i BA ﬁ:?ﬁg%<_ﬁga%§ 2019/01/17 500
- BEXEES(—RENE
H —1= Ha) 2019/01/17 10,000
R IEH ﬁ:?ﬁg%<_ﬁga%§ 2019/01/17 500
EH f— ErXiERe (—RANE | 519/01/17 500
)
AR 87 X iERe (—RANF | 519/01/17 500
)
Il AR ErXiERe (—RANE | 519/01/17 500
)
[&H {8E f’é?ﬁgﬁ(_ﬁm%§ 2019/01/17 500
L IEE @iiﬁg@(—ﬁgaa@% 2019/01/17 500
Bl #E= ﬁ%x;gﬁ—ﬁxam# 2019/01/17 500
HH AE E%x;gf(—ﬁxamﬁs 2019/01/17 500
=8 ik E%x;gf(—ﬁxamﬁs 2019/01/17 500
R = E%x;gf(—ﬁxamﬁs 2019/01/17 500
5% % EEXERE —RBBF | 019/01/17 500
)
#E = EEXERE —RBBF | 019/01/17 500
)
HWE IEE X iREE (—RBOE | 519/01/17 500
)
AIA BEEXEEE(—BRENF | ,919/01/17 500
)
s Kz {gi)iﬁgﬁ(_%a%% 2019/01/17 500
Wi FE ‘P’{?‘)iﬁgﬁ(_ﬁw?‘ﬁ’g 2019/01/17 500
oiE HE ‘P’{?‘)iﬁgﬁ(_ﬁw?ﬁ 2019/01/17 500
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FMEZARR CERIOFERE AR TR314E3H31 BEE
StEf HWES FAKES ZAEAH Sz
BNl E Ei**gf(_ﬁ"aws 2019/01/17 500
N & Ei*?—gf(_ﬁxﬁm$ 2019/01/17 500
M\ EF Ei*?—gf(_ﬁxﬁm$ 2019/01/17 500
&0 B Ei**gf(_ﬁ"aws 2019/01/17 500
FIL #HZ Eiﬁ;i@(—ﬁ:ﬁﬂﬁ# 2019/01/17 500
B BE E%j‘*‘%ﬁ_ﬁxgaﬁ 2019/01/17 500
)l 3h ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
Bl X ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
'’ = ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
=5— ES ﬁgx*gf(_ﬁxamf’ 2019/01/17 10,000
FH H#E ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 2,000
mEE A ﬁgx*gﬁ_ﬁxgaﬁ 2019/01/17 500
AR Bt gi)ﬁ:;g_@nsﬁfﬁ—ﬁx 2019/01/18 5,000
AR A g%jﬁ%ﬁwsﬁﬁ_ﬁg 2019/01/18 400,000
SHE ik ;ix*gﬁwsﬂﬂk* 2019/01/21 50,000
O FES gi)ﬂ:;gﬁwsﬁﬁ—ﬁx 2019/01/22 20,000
E RS gi)x%%ﬁmsﬁﬁ—ﬁa 2019/01/23 10,000
£ 23 S 2SI gi)ﬁr‘?ﬁgﬁ(mﬁﬁ—ﬁ& 2019/01/24 100,000
EfEAELEA FLFE LEXFES (BEH) 2019/01/25 50,000
HE fa= ;ix;gf(mﬂﬁ{#; 2019/01/25 1,000,000
FA M gi?‘*g@”sﬁﬁ_ﬁx 2019/01/25 200,000
BA SIS LERFEE (BEF) 2019/01/25 50,000
B kg %g?ﬁgﬁwsﬁﬁ{%ﬁ? 2019/01/28 10,000
Wr & g%x$§$($$§%$ 2019/01/29 5,000
HmAHIcLER LERFEE (BEF) 2019/01/29 50,000
E% Tik %g?ﬁgﬁwsﬁﬁ{%ﬁ? 2019/01/31 10,000
W A %g?‘igﬁwsﬁﬁ{%‘% 2019/01/31 100,000
=YL Evy) FSH—K gi?ﬁgﬁwsﬁﬁ_ﬁ% 2019/01/31 2,000
EfE AL H U A Y KA IRE N EHER gi;‘fﬁgﬁ”sﬁﬁ_ﬁg 2019/02/04 10,000
EfENBN REERNERER LERZEE (BEE) 2019/02/07 50,000
F429 -2kt LERFEE (BEF) 2019/02/07 150,000
EFEALARTAIEED =) LERZEE (BEE) 2019/02/07 50,000
BASHLELR LERFEE (BEF) 2019/02/07 50,000




SHEZARR (FHIOFEHE) WR FRE31EI[I BRE
StEf HWES FAKES ZAEAH Sz
EfE AN FR SRR LEXRFEE (BEX) 2019/02/07 50,000
EREASRCHRERNARYNEII)=vY LEXRFEE (BEX) 2019/02/07 50,000
EfFEAAFEVER LEXRFEE (BEX) 2019/02/07 100,000
EfEAHAERS LERZEE (BEF) 2019/02/07 50,000
& =RF LERFEE (BEF) 2019/02/07 50,000
B/ ULaL LEREEE (BEE) 2019/02/07 50,000
EfFEALHICEZS LEXRFEE (BEX) 2019/02/07 50,000
EFEAABRERVELRR LEXRFEE (BEX) 2019/02/07 50,000
BT B LEXRPES (BEE) 2019/02/07 50,000
BE kX LEXRPES (BEE) 2019/02/07 50,000
£k RT LEXRFEE (BEXE) 2019/02/07 50,000
EfEANSHIRMER LEXRFPEE (BEXE) 2019/02/07 100,000
EEEAIL-TLR LEXRZEE (BEE) 2019/02/07 50,000
X B g%)ﬂ:#g@ﬁsﬁﬁ{%ﬁ: 2019/02/08 500,000
XE WBRF g%)ﬂ:#g@ﬁsﬁﬁ{%ﬁ: 2019/02/08 5,000
FHRIZH#A LEXFES (BEH) 2019/02/12 100,000
FHIZKASH g?éﬁgﬁf”gﬁ% DRI 2019/02/12 100,000
REELUEESKASH LERFEE (BEF) 2019/02/12 100,000
HASHBELREHR LERFEE (BEF) 2019/02/12 50,000
AR B gi)x%%ﬁmsﬁﬁ—ﬁa 2019/02/13 5,000
£H = g%jﬁ%ﬁ(iﬁi%$ 2019/02/14 10,000
EREARXS LERFEE (BEF) 2019/02/15 50,000
EfEAKOC EREBNARII=YY LERFEE (BEF) 2019/02/15 50,000
Xz —th g%x$§$($$§%$ 2019/02/15 20,000
Xz —th g%xigﬁ(%‘%ﬂ§$ 2019/02/15 10,000
B W g)%jﬁ%ﬁ(%t%ﬁi#§$ 2019/02/15 5,000
mik & g%x$§$($$§%$ 2019/02/15 10,000
%k TS g%x$§$($$§%$ 2019/02/15 5,000
H#E B ﬁifﬁgﬁ(_ﬁga%% 2019/02/18 500
KE fi— ﬁz)ﬂﬁgﬁ(—ﬁaaa@zs 2019/02/18 500
(11PN ﬁi?ﬁgﬁ(_ﬁga%% 2019/02/18 500
x EK ﬁi?ﬁgﬁ(_ﬁga%% 2019/02/18 500
Ao BE ﬁz)ﬂﬁgﬁ(_ﬂgm@% 2019/02/18 500




FMEZARR CERIOFERE AR TR314E3H31 BEE
StEf HWES FAKES ZAEAH Sz
aH X Ei**gf(_ﬁ" BEF | 2019/02/18 500
INE Ei**gf(_ﬁ" BE% | 2019/02/18 30,000
=8 = Ei*?—gf(_ﬁxﬁm$ 2019/02/18 500
B = ﬁ;?*ﬁgﬁ(_ﬁ‘ B | 9019/02/18 500
MR BE Fii%gﬁ(_ﬁg BEE | 019/02/18 500
%A 8 E%j‘*‘%ﬁ_ﬁxgaﬁ 2019/02/18 500
SR IEFD ﬁ;?ﬁgﬁ(_ﬁx BEF | 2019/02/18 500
A3 f}i?ﬁgﬁ(_ﬁg BEE | 5019/02/18 500
R EE ﬁi?ﬁgﬁ(_ﬁg B8F | 2019/02/18 500
KRR A @iiﬁgﬁ(_ﬁg BEE | 019/02/18 500
WE FF E%x*gf(_ﬁxgmf’ 2019/02/18 1,000
AT S ﬁgx*gﬁ_ﬁxgaﬁ 2019/02/18 500
IR H#F E%x*gf(_ﬁxgmf’ 2019/02/18 10,000
KE HE E%x*gﬁ(_ﬂ"a’h$ 2019/02/18 500
KHE RIH E%j‘*g%(_ﬂ"a’h$ 2019/02/18 500
HE # E%j‘*g%(_ﬂ"a’h$ 2019/02/18 500
TR ORE E%j‘*g%(_ﬂ"a’h$ 2019/02/18 500
EME {EAR E%x*gﬁ(_ﬂx BEF | 2019/02/18 500
Nl E%x*gﬁ(_ﬂx BEF | 2019/02/18 500
CHA & E%j‘*g%(_ﬂ"a’h$ 2019/02/18 10,000
B (=4 EEx%Eﬁ_HXEM# 2019/02/18 500
RE RE E%x;gf(—ﬁxamﬁs 2019/02/18 500
ME kX ﬁ;?*ﬁgﬁ(_ﬁxa%% 2019/02/18 500
e = ﬁzf*ﬁgﬁ(_ﬁg BEYE | 2019/02/18 500
Wi e ﬁzf*ﬁgﬁ(_ﬁg BEYE | 2019/02/18 500
H i&hn ﬁzf*ﬁgﬁ(_ﬁg BEIE | 2019/02/18 500
EW ¥k ﬁzf*ﬁgﬁ(_ﬁg BEIE | 2019/02/18 500
WA FEE ﬁzf*ﬁgﬁ(_ﬁg BEIE | 2019/02/18 5,000
EA $EX ﬁ;ﬁﬁgﬁ(_ﬂw%% 2019/02/18 500
IR =& ﬁz)ﬂégﬁ(_ﬁg BEE | 2019/02/18 500
g EB {gi)iﬁgﬁ(_%a%% 2019/02/18 500
WA —8h {P’l?‘)ﬂégﬁ(_ﬁg BEE | 2019/02/18 500
&M@ ¥ {P’l?‘)ﬂégﬁ(_ﬁg BEE | 2019/02/18 500
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